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Paper-l:  General Paper (Q.Nos. 001-050)
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Question 1 to 5 : PAPER - | (GENERAL PAPER) 5
The following table show wad
& OWS the Percentagpe (%) distribution of tha rititriber of ronclers of an ITMZ‘M‘W'

the years 2019 and 2023 ans
-/ 3 <Uad, ar | ' el
L questions that follow. Nong the six different citlon A<l, Based on the data in the mbl".‘“: e o

T e A e foret e ey o
erreon atten man @1 ety ol

w2010 W 2023 # 1y b o 5 ! A1 A e (%)
RSS2 5 ot ¢ o iy 1 et 7 e o ‘
)

City-Wige Details of Number of 1T Magazine Readers/
SN e a4t fwan my qrge-an foraror

City/ icentage of Readers in Year/
- al W izt o ufer
(2019) (2023)
A 10% 15%
r B 14% | 16%
! C 17% 28%
' D 9% 10%
E C24% 9%
F (26% 22%
(™

i b If the number of readers from Ci -HC( o the year 2019 and that from City-E in the year 2023 were
ty gll{l y y y
Kl

73,100 and 51,300, respectively, thle he number of readers from City-B in the year 2023 was

approximately % more than that in 2019,

7t a9 2019 H I C | 3T a6 2023 | e E O USehi &1 G HHA: 73,100 4 51,300 4, o et BB
2019 F TS Fil HEA W A4 2023 H Sl wt wem % sifye 4t

(1) 53.7 (2) 50.3 (3) 52.8 (4) 515

If the number of readers from the City-D in the year 2019 and 2023 were 77,400 and 1,14,000
respectively, then what is the difference between the number of readers from City-F in the year
2019 and that in 2023 ? '

i a9 2019 7 2023 F 7ER D A TSI TE@A HAY: 77,400 & 1,14,000 off, @ W F H qrami w5 o
2023 %1 FE&AT 3 34 2019 = n@lﬁ:%ﬁj w1 e fepern & ?
(1) 24,800 (2) 27,200, (3) 28,400 (4) 33,600

3. If the total number of readers fromlall the six cities A-F together in the year 2023 was 50,000, then
: the number of readers was more than 7A00 in exactly cities in the same year,

afe [t B WEH A-F 1 et 2023 # wraeh @) e ww@n 50,000 o, @ al d- e o i
4 wrawhi Fi e 7,400 § aifiren off 2 |
1 2 2 3 (3) 4 (4) 5

2 ' 087
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6.

(1) 182 2) 19 @) 199

zﬂamﬁhama 1 2 9aﬂmmaim‘ﬁ
aﬁaﬁzolﬁhg:a e mzsa%m

(1) 3:5 () 4:5

E) 4-9 ‘.,-.—"‘

Match List - I with I:-II.
List - I '
(Types of toxicants)
Nephrotoxic
Hematotoxic
Pulmonotoxic
Hepatotoxic

I%mw—ﬂﬂﬁﬁﬁﬂﬂ'ﬁgﬁ) g

ONwp
’Q»'

-
eUeaE® 00 v. T
Choose the correct answer from tHe-options given below :
P
e fam M0 faaped] # B W I 1 TAH HIAC ;
(1) Al BV, Cl, D-I g (2) Al B-IV, C-m. D-l
(3) A-l, 11, -1, D-IV o0 (4) AL B-L CIV, ?-ll

O 0O W »
U

What is the base-10 equivalent of the base-4 number 30132
R4 Ty 3013 % WAGE AHR-10 HEAl FH | &2

|
_.w‘ -
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8. ‘Mind to mind’ cOMmunication involves the ff”mm““t@ﬁtlon of meanings through :
A. Physical settings B.  Shared beliefs

y C, Values
D. NOiS(‘ mm“PHlt\Hon E. C“n text

Choose the correet answer from the optons given below

1
1

1) A Band D only (2) "B, @ and DUhly
(3 A B Cand Eonly (4) (@D and Fony
LI} 3 | 1 i L OO
‘mftees § A WER Y s R o HIHTE HET ST e 4 9
A. i e B, gt o C. e
D. W& [-W E. ded LD
e few e e ® QW s e k) ,
(1) ¥ A,B¥RD () ‘S B,C oD |
(3) %% A, B,C 3R E (4) FFAC, D ST E
9. Identify the correct order of the following list of computer componénts ranked from slowest to
fastest in terms of access time, '
e cache: REBSESRAM @ £5p) Di Optical Drive
ST T & Hedl H ey M W H fral % vy Aviter Hvget v i frefefea gt % w w0
%! fafeq it \ ]
A, o9 g EW B. I Ec Ty TH 2 D, sifese gua
Choose the correct answer from the options %iﬁe’h below :
ﬁéﬁqmﬁwﬁﬁﬁﬂﬁwwwﬁmg&
(1) D,C B A (2) A,B,CD E (‘:f;)?; B, A, D,C 4 CD, A B
L’ 10. Match List - T with List - 11, ®)
List - 1 List - II
(Words) (Codes with same rule)
A. FIND I RGKC
B. CLOG II. DGLB
C. SHOW . AJME
D. TIME IV. QFMU
TE-1% W4 Feft-11 %7 iy FATAT
-1 Hel-11
(¥re) (T o wee e )
A. FIND .  RGKC
B. CLOG [I. DGLB
C. SHOW . AJME
D. TIME V. QFMU

—hoose the correct answer from the options given below :

A e T feehedi & gy o e o

(1) AL B, CII, D-1y (2)  A-II, B-III, C-IV, D-I
(3) A-IL BV, C-I, D-]j (4)

A-1V, B-1, C-I1, D-III
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o e 000 () tewm
When communicatic 1 help: lﬂl'bllp to achieve its goals, it is know .
(1) Disraptive role (2) Prom%z’l: ole |

(3) Counteractive role (4) Devotional role

st S g ) s Al #1 wfta | wer g & @ 3 freE
(1) fawzrh e (o) Havw o
() it i S (4) /3 |

Choose the correct statemen
A. 2% of y is equal to y% 0 x. .

3 (\J e i 2) & ‘
B. 1f 40% of 60% of ; ‘__M% of | 5 Joft at number is equal to 350.
C. If A i815% more than B/then B i8 ~13.04% less than A. = I
D. 10% of 5 and 5% of 10 add-up to 0.1. < .
Choose the correct answer front the options given below:
(1) AandBonly, (2) BandC (3) (Cand-D-enly (4

Fﬁmﬂ?{ﬁﬂ: i e | - ;

Ay 2% 100 2 B y%F AEALE =N | .
: . i

B mm&m#(%) a7 60° ,504 8, ﬁ!'

C. M a, B 15% afvw EH B, A 6 ~13.04% T L
D, 5% 10% a4 10 % 5% gm0 §l

vfrilfv:mmfawﬁﬁhmwiwmm: -
(1) wampdup (2 #agp#MC () FEe C D (4) h]

Which of the following di,;jtai initiatives provides databnnd profiles of scientists / res
and other fﬂcu]ty members Mﬂmg at leading WM tiona u‘d 'R ,- il
(1) SWAYAM prabha (X (3) * BVIaWE
(3) National Academic Depository (NAD) (4) E-Shodhsindhu

Pty o aim-d feforea 9o st srwRfae ,‘”___

) mmm (A v @)

i

il
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18. A motor boat ai
s cert i
st:arting point_c(l)fV a::‘ ii\zgéno?x;tame downstream in 5 h but takeg ¢ & to the
St water ? & Stream be 4 km/h, then 28 6 h to return uPSTeTL a¢in
()" 40 km/1 2 wh’”’ﬂ"'lapeed of the motor bO?
2k ) 22 ki () 44 km/h
@) 46 km/h

| T Wi 719 7 ) 8 LIS

| : T o 1 0 5 o ™ &
| ot e o e 7 6 TR gt i 70

| e A 81 e g e 12T
| (1) 40 fesdt/va () 4 fef/sr - (3) M&ﬁa @ 6t i

| LO

19. Which of the followin '

A. D Kl;l:qﬂliro yer t%\:f :%?i;: A°D abouit computer RECHORIEES is/are tru€ 4
JB 999 MB is larger than 50 GB. D:}

C. 3500 KB is smaller than 2 GB.

D. 2350 bytes is smaller than 2 KB.

Choose the correct answer from the options given below :

L) sy @) (3) BandDonly (4 BandConly
Fogex A A IR | A-D ¥ Trefefas wgdl § 9 o &1 /8 9 ¢/€7

A. 25KB, 100 MB ¥ S g1 B |

B. 999 MB, 50'GB ¥ 91 Tl ¢ |

C. 3500KB, 2 GB & i1 &Il €

D. 2350 a2, 2 KB | BIel Bl €|

= feu U fagedl B A e ST 1 T HIG : i

(1) Faa A (2) FE C 3) %aaﬁaaa"rw (4) Fa@B IR C

pproaches to the study of reality suggests that only knowledge gained

senses 15 acceptable ?
(2) ethnography
(3) empiricism (4) op.eratlonah:sné; - :
a9 & Heggd Bl fafafaEd # 4 & 4l qTTH AT Ll % for FA@ v 3R SfegEa g/ W 99

20. Which of the following a
through experience and the
(1) constructionism

HFEa 77/
¢ ot [

e (2) TfrEH
A)  THEfqare
it/ (4) wHfergrEnR

(3) HFAvadIa
r and the speed of the _Stl't’dm is1km/hr. A man
2 ‘,J}IMM‘Li of a g ce of 24 km and pack to the starting poml. Find the total time takegot:‘yrsllm? al-
lace at a distance ¥ = - - :
il}: :l_d]al 11 2) 10 hr (3) 12 he ‘ (4) 15 hr
i -1 e 'J.“ oy P ‘ ¥ A
A 1.1. > -4 1 5 fepw. /H2] & 3 i =l Wii‘ﬂ 1 fegel./ m%l UF =5 24 ot aﬁ{ﬁﬂt
A el A ﬁﬁj{:ﬂ - rifiyep filg R TS I &1 % BT foTe T e ) v it
\'sqa TQTF{ (] ] [ .
(1) 8Fer

5 km/h

in still water 18
comes

2 i &

(2) 10%@ )

087
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Which of the following are essential requirements for the formation of phnindlanical W ?

A. Carbon monooxide (CO) B.  Nitrogen dioxide (NO,) i
C. Carbon dioxide (CO,) D. Volatile Organic Compounds (VOCs)
E. Sunlight
Choose the most appropriate answer the options given below : 4
(1) A, Band D only A, C and E only

() B,C DandE only {4y B, D andEonly
-G P % W § fow frt A8 32 1 2 g 27

A. FEA SHEEEEE (CO) (B T AR (NO,)

C. e sEFaRS (CO,) @) T TR 40 (VOCs)

E gEw=m

41 fog e el 4 4 WAl 99gEa o =1 95 e -

(1) Fa@ A, B 3D (2 FFAACIRE

() @ B,CD3RE () F=aBDIRE

Knowing that you find algebra more difficult than your sister does, butﬁ\:at you could improve
with practice, is an example of - 0

oF et

(1) Self-Regulation (2) Metacognifion (3) Self-discipline (4) Astomation

T Sl 16 A1, 951 e #1 qorl B S15% Fio7 i & o0 288 s eram TEEE
&4 T, g2 FetatEa 5 9 (a3 cetmie 2
1) FF-FEEE 2) =AE-gIE " @) FIFEF-FIE (&) HEaeT

Which of the following are the subdivisions of Implicit (Unconscious) meniony 2
A. Priming B.
C.  assical conditioning effects D.

E. Procedural Memory

Episodic/ Memory

Semantic Memory

- - £ 1. g sl = o
Choose the most appropriate answer from the options given below :

(1) Band D only 2)) A, B, DandE only

(3) A CandE only Ay A B CDandE
Fefafes & #7 sr=fifea (zma39) ia ) F 399m 22

A.  UEfgm B eI (wdiEites) S
C. W& Ay gum D= 19 Tfq

E  rifafus oy
ﬁﬁqwﬁmﬁﬁmmwmwaﬁﬁq;

(1) %@ Bap

(2) %39 A, B, D3IRE

() %ad A, C #n E (4) A, B C D3IRE

-
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B.  Breeder renctors produce more nuclear wailo than the cl'?;t'rénthnat one, o
Choose the corret answer from the opﬂonﬂ, gi;ra; ba?vl; iy y | f ol
(1) A, Cand Donly @) A, B and Loy "" ] #0
(3) B, Cand E only @) A/C Pan .only. el ’;’
st fruey e ) forer @ Ay adl ¥ 7 e
S AL A gyt gEr 1 srfue WWWW*D " | ) o
g #f g o Frose el ¥ o0 .
v R

LB

A rtf fromed

~ Listel
(Coneept) .
b Communication in econgmian
¢, Language a8 & condull olenmminfontl
D, Lines of comme ,*'Tn'"n,‘A e

elt-1 8 o gt i i o
ettt

(dwean)
A, ].fif

B, ey A e C

C. owrowfew ¥ w0 N w0 i, |

D, e w ol | v, e fwe

Choose the correct @nswer from the japué;m glven below ¢ ‘L'Iriq

A e e et B & ke w e wifn ol

(1) AL B, CAV, DeE L) ,‘fm, B, G-IV, Dl |

(3) Al B-IV, Gl D11 @) ALY, BT, 1) DS |

Which of the following are true about breeder reactors - ¥ s
a

il than they consiire,

A. They produce more (ssile materiab i

B.  There are no breeder reactors in India. g b LY !

C.  There are two types (Fast and Glov .e)'LO"'bl‘@ﬁHﬂ'?ﬂtﬁ'ﬂ- i

D.  Tor breeding operation the conversion l'ntlo‘(ff. | lmab_raﬂal produced/ fissile mateﬂd‘ :

consumed) should be more than one.

c. Hu»r;ﬂwuﬁ'wr{(uﬂﬂﬂmmﬂfﬂl o) 1
RIEE et (fereed et lﬂlluﬂﬁl-ﬂnw\mwmﬂ(jn ;T\?ﬁ e
'

D,  wer yerer ﬂ'ﬂ "-ﬁ'lﬂﬂ“ 4
© i'.l < wrrifne ) RN
i il ﬁWlﬁWWmmn S~ T h.,:Ilff'

r

A fem el 8 wit v W1 T ’ﬂﬂl A méﬁ’ﬁ{*
(1) e A, C #ffc D (4) e A, ¢, p ot

(3) e p, € B
9
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27, The media accountability system to improve media quality e o 4 -

A.  Evaluation B. * Audience control C.
E.  Feedback

Choose the correct answer from the options given below g

(1) A Band Conly (2) B, Cand n
@ B Dand Bm\l‘g (4) A, C, D and Bopy
s o W VR, e sefie oo fre @ R w S

A RIS B smfem o) 0 C

E v
08 e e e e
(1) ¥sSABMC @) %=« B, C # D
(3 =B DRE @) 99 A, C, D iR E
28. ify the t f the f research isations 4
Identify otf)m?c Séquence of the folloWing research organisati

A. Indian Council of Social Science Research (ICSSR)
B.  National Council for Rural Institutes (NCRI)
C. Indian Council for Philosophical Research (ICPR)
D. Indian Council for Historical Research (ICHR)
E. Indian Institute of Advanced Studies (ITAS)
s SR TTe % ST T 98 % SIER T %Y i Tafea 3
A, NRGE SMS SEE SEym 6l TH TH #R)
B. u@qwmﬁm(miﬁmr
C. S T STqeem wieg (o & 9ram)
D. mmmm(m@@m)
E SRdE 359 3799 SR (3 3 0 uH)
Choose the correct answer from the opti%ar given below :
e fou T famedi F | Wl S 9T H -
(1) ADEBC (2/BEGCD, A (3 EADCSB (4 B AED
29. When you try to
likely to be using :
A. the Pearson product-moment correlation
B.  bivariate regression
C. multivariate regression
D. analysis of variance
Choose the correct answer from the options given below :
(1) A, Band C only (2).” B and C only
(3) B,Cand D only ) ) A and D only

TS ST A CH T A GG GO F Y 1 S w0 A w0 6 wE e §
A.  UEET TUH-EY HewEy |

B. fg=t wfam

C. @gat gl LOY

D. waw fagemm

12 few mu feemedi # & W@ 3o @1 @ it .

(1) &8 A, B C (2) %aw B iR C
- (4) %@ A 3D

E.

predict the value of an outcome variable from one or more variables, you are

L
-
.

&4 B, C 3D

10
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30. According to National Credit R

Research/Engineering) of Progrg SWork (NCTF), after obtainin : ee (HOWS/
T e e (T o & im‘me o ot g A the cregty oy e;);‘%ﬁl:f: el
ﬁﬁﬁaﬁ)wwﬁ%mmmm W 8 o ot (7

1 55 ). 8 R

e (¥, 6.5 =
A the following
31. ;\T.ranlgitr‘el d:r OWINgG 1N Ordep of increasing cr? ’ ittatior\. 7

C. Baseball Player g all Player

A, HITS (93 WF) B.

C. “ualq faes D.

Choose the correct‘ r from the opti Lo
-t answe ptions given'below :
I fer T el © R mamﬁmg
(1) B,C AD ¥ B,ACD 3 D,BCA @& ACBD

If a research projectis set up so that everybody in the populati : ual chance of
Ing i 1 tx t has an eq
being included in the sample, the resea::ydi ingolves : population of interes

(1) quota s_a;npl_ing _ (2) judgemental sampling

(3) pEobabl}Jt)f sampling (4) convenience sampling g

afe ot S IR S 30 W et o s % Forerd foF e f & e bl wiaed § qiHe

T 1 T FaaR e €, @ sEeE § ffe gAY

(1) =i = ( URIE I es

(3). Wigwar wia=EA (4) Yl i
33. What is the full form of POPs ? \

(1) Persistent Organic Pollutants (2) Peisistent Oxygenated Pollutants
(3) Polycyelic Organic Pollutants ~ (4)  Rolymerised Organic Pollutants
i 37§ (POPs) 1 01 F9 F1 & ?

32.

(1) ufdz HAEiTs fegeed (@) thiEe e depew
(3),~STeirarefard, S I (4). TiEHUESS SiH i
34. Maich List - I with List - IL
List - I List - 11
(Abbreviation) (Meaning)
A. etal, I, in the same place
B. ante,, I, and others
= cf [II, before
D. ibid, [V, compare
|- 15 qre get-11 #1 fqer i ;
-1 get-11
(g ®9) (3red )
A. etal, [, S EHR
B. ante., (. ot e
C. cf, (I, &
D. ibid, v, e

s o X ions given below :
Choose the correct answer from the options g

4 feu U foeredi # | W I 6 T aﬁ(g‘m '
(1) A, B-II, C-11I, D-IV @
(3) A, B-IV, C-I, D-II

11
Z I 7 DONE i

11, B-1L GV, D
1

As
A-IV, BAIL €11, p |
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35. Match List - - I with List - 11, k | -
List - I f

(com/T-rsm of MDGs and sua.)
Goals in o

get-1
(mﬁwuwtaht@m)
e T O (hew) v ()1,
gear= fFTE O (tivew) # @ (@) 11,
o fr 9 (Tirew) # o (i) i1,

Taa faem 2 (Tiiew) # @ (Te) Iv.
- Choose the correct answer from the options given below :

= feu mu foshedi # 9 W W Ty :

(1) A-L B, C-II, D-IV o (2) A, B, C1I, DIV

(3) A-I, BL CIV, D-II ﬂ"» . (@ AV, B, CI D-I

36. The second five year plan for im wplémentation mcluded the recomme; r=’s ,_ -
A.  University Education Corhr k nission 4y

B. Languages Commission of India
C.  Rural Higher Education Committee
D.  Committee on Establishment of New Universities

o N 7-s=‘ »

- E Three-Year Degree Course Committee » 7 E '
- Choose the correct answer from the options given below :
(1) A Band C only (2)- B, Cand D only
(3) C DandE only p (4) A, BandE only |
mmmmﬁumﬁﬁﬂﬁrﬁaﬁaﬁ aTRieTi <ht nfe fo T A
A, favfaees fam a@m 3

G 71 q7ed D

I Foma fipe wfafa O

74 fevafamrerdi #1 wa tﬁaﬁqﬁ
ﬁaﬂafaﬂw

% feeil 4wt e o e i |
Ejﬂt C 2)

(4)

12
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37.

38.

391

‘Q’lﬁch of the following statem
i }r/alidity can never appj are true ?
' he concept of truth ¢ any ging iti
e an ingle proposition by its
= Proposm_ons by mems'&lvepply to single propositi(m);.1 ?lf'
A Proposition cannot be y, 8 Can be valid but not invalid
Choose the most appropriae d by itself though it can be irvali
(1) D only 2) iﬂnswu from the dptions given‘{)zllld on it own-
: o ow ;
frfefaa d 9 s O %";d Bonly  (3) yBandConly (4 Band p only

A v D R R g (7]
B. wﬁmmmw-mwm%am%'
& + i T & GhALE |
IR IR) T S & e ¥ g ory TR
3 i A . g ST T8 Fehell € |
s T 3 8 3 5 2 e v o
3 few T Rl & o8 @3 H Y & Tt g |
5 el Fif |
0 SUFFT I HT T4 KT :
| 2) FTAAMB (3) Fa@BRC (4 Faa B AD
Which of the following statement is correct ? |
(1) Nyaya syllogism has three propositions.
(2) Nyaya syllogism has five terms.
(3) Nyaya syllogism has five propositions.
(4) i} Nyaya syllogism has three propositions aﬁdﬂuee terms.
fafafas Hudl 8 @ S o FUH TE €2 O
(1) —E--FarE | O wfaefe gl gl
(2) =E-aEEEd H uE T €
(3) 1 —aTE i e et et e |
(4) mfwﬁmqﬁmﬁmﬁwaﬁrﬁ%l

Match List - I with List - 1I.

List - I List - II
(Ancient Treatises) (Author)
A. Lilavati I. Chanakya
B. Yoga-Sutras [I, Gautam
@ Nyaya - Sutras 11, Patanjali
D. Arth ;,5]1 astra [V, Bhaskaracharya
-1 3 =g get-11 firerA AT
Heit-1 i~ 11
(wrei 49) (e )
A. e [ e
B. dm-§A [, T {
Cc. =E-9A DI S
p, e [V, vERyEd
Choose the correct answer from the options given below :
ﬁ%ﬁqwﬁmﬁﬁﬁﬁnﬁtwwmﬁm:
(1) AV, BIIL C-IL, D (2) AL B—iV&ffi“f D-]
@) A1V, B-11, C-1, D-II 4) A, BIL &Y Dy j
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Which of the following statements is logically eq valent ¢

Lt B
feline” |

() No felines are horses, (2) No rses ar,
(3)  All non-horses are felines, (4)  All non-faj;
“m s} w e mtl” m
M@aﬁﬂmmmuﬁﬁﬁqammg T 3
(1) W Feo R (2) o e

O wtadtEEb Ny (@) @i - fremes

Which of the following is the @n&l Coordinator of SWAY 2
graduation education ?

(1) All India Council for Technidal Education (AICTE)
(2)  National Institute of Technical Teachers Training and Research (N
(3)  National Council of Educational Research and Training (NCERT
(4) University Grants Commission (UGQ)
mﬁﬁmﬁ—mw-wm%amwwu@q :
) mmm—ﬁmqﬁﬂﬁ(qﬂﬁﬁﬁ@

@ mmm—mm@mmmmaaam

3) mmmwm\ﬁqﬁqa(mmma)

(4) Tovfawem SR s (s @)
On
Match List - I with List - II. N *
List - I QD List - II
(Digital Initiative) P (Purpose)
A.  Shodh Sindhu QQ Hosts synopsis of research topics in Indian Universities
B. Shodh Gangotri G Free/Libre and open source software for Education
C.  Shodh Shuddhi IIL.  Provides.access to e-resources to Universities and Colleges
D. FOSSEE IV.

Plagiarism checking initiative aimed fo ensure originality
in. academic writings

-1 % T Helt-11 7 i i

- HEr-11

(fefsree ugm ) (3vm) \
A. ¥y fgy . vy favafaaem § shu-fasgi % S99 9 S9aE 5 2
B. iy wjripsh SOl T i /SR T S SR
C. ¥imyfg o L dE A vt T e s v

7

D. W% il vy ug ¢ § ~AV. s dr e 9 g SR R it
Choose the correct answer fronythe options given below :
ﬁhmﬁmﬁﬁnﬂwmmwaﬁfm:
(1) A-lIV, B, C-11, D (2) A-lIL, B-1, C-IV, D-11

(3) A-L B-II, C-I1I, D-1v (4) AL B-IV, C-I1, D

14
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43. Arrange the following fractiong i &
e far=i = wga A W AR ey

e -
7

44, Which technology first n

45. Arrange the diff er

_ J e DK &\artaCoIIequj:};“ _?.-
et rreensil ) TR o O SR AT
B, W H EpAMSAEA T
D, <) She |
ptions gi fgﬂaow: ; | ‘

c. o (Frepd)

Choose the correct @SWGT from the o A
4 feu o forpedt # § W ST H WW%""L b )

(1) ABD,C 2 D,CBA ANANE B’D.: ) (4) B, D, A'C, o

(46 - 50) X
a

i

Read the following passage and answer thg‘i'guf?Sﬁ@Q’: o R el
horonii s e World Health Organization repait pbout 80 e o hvofld populatesiees
traditional - stems in some or the other way. India has a distinctive and unique traditional
tional medicine systems in SOME OFCHE U i ent philosophy, medicinal knowledge, perception
medicine base, with each system having * S 0 e ST
and praCtiCGS’that align with the regional cultures, traditions and d]f iefs. The traditional medicine
systems in India include Ayu:veda, Yoga, Namropathy, Unani, Siddha, Sowa Rigpa and HomeoPaﬁLy 1
which s knowr, chyUﬁh All these systems were formulated, practised and perfected in a continuum.
wn as . :
much before the advent of modern health sclence. the norm and traditi ey g
In . of the world, medical plural}ﬁ_a;rrlﬂls en ; ad tional medicin
the s E CCnmtrmei':’u'ove total healthcare coverage for t'he worl _Population using accepta
and sgce);t ear fMs:ibfe methods. NO SYStem.Ofimédlcu}gCS: osflzglihandecny address
concern Ogmcallyl—fea ative aPPmaCh incorl.?oratlng (,ﬁEerﬂpt)'Sl ﬂ:e trade : lian Surel-y- benafiggy
The h 1?; e 1megrtered and indiViduahsed, APPRga 12 ‘tl'reatmmar of t?adm?-u =) i
ebl QIstic Patient-cen S partﬂE‘IShiP to design 0}‘ stomlses comb'ent and hfestyle advice in
enables the patjent-phy** tential for well-being. Thlsfi.,avﬁaregf%m 3 acﬁm‘e.d with Fhe incre :
to agrlueve the highest P ot the systems to the fore.(The ‘;égive' vities ranging fror
traditional meqicine 128 PPOUE U o ment of disease apd e effectiVe Implementation ¢
of prophylact; e to the aring the p emic a5 garnered global att
PTOPQylactic car plic healthcaré d g Agreement BN
Ayush syster, to the pu 1 the signing of the Host Country £&= nt for the e
systems. Thi has ERAEUC e (GCTM) 2 JESHREEE :
Centre for Traditional Me

15
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P Tater i O S sy et st 8 990 R ¢ g

forva e W e a
Fa ¥ K

‘ “'g“:“ W yrefte a .l‘#‘u‘.',l” Fafrad
R _M" w’ m’ mmnm I l‘,““
O 36 ST 3 s e e 400, g

)

R o e v 1 e
S mmﬂmmﬂmmm

\ ' '|.
Tl ST W T ¥ SRR 6 < HIew e 3 fery i
Fed i@ﬂmﬁﬁmﬁn%ﬁm%mtﬁ%ﬁﬁum :
T tmmﬁ'wﬁvﬁmﬁﬁm%mﬁmhﬁwm%g
of AT | i

G % e 7 HYw

Q0
Q

- = i P G
46. In ma rm because :

Ny countries of the world, medical plurism is the no

(1) Traditional systems of medicine are useless, (O
- @) i
~ (2) Traditional systems of medicine befool the public, i"'_":" ]
(3) An intJeﬂgi!aﬁve approach incorporating the positives of each system oq medicine can in no
way beneft mankind.

44) No 3‘5131e sysfem of medicine can single-handedly address

¥4 & A i A fafwady RIS TH & ifar -

all health concerns.

| | [ | ]
kt _1/'.‘ J
S

ko O
}Eﬁ R Tl ST 6 s il IND

Nt

W) |
( Amﬁmqﬁﬁwwmmwﬁﬁmmﬁ |
i R R
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47. Which of the following fnctd aboug gy traditional Indian medie

Ao Bach system {s Unique, @m_ﬁl\!_@my false?
B They include Ayurvedy, Naturopathy, Yoga, Unani, Sfde J athy
C. Modern Health Sclence proceded them. e \ i

D, Each system has an esgentially "lmlﬂllosc)phy ol ol | . F W
Choose the most appropriate answer fro options given belo ¥ ‘ g :
(1) A,BandDonly ) BandC OnlymS) A mi g Y ool

mmﬁmm#m#ﬂﬁq@ﬂdﬂaw.a_

A, v g fufere & | | :
b, 1 s, e, e, o, G st mﬂa;m

c. smfre @ fasm ok e §) :

D. weE g il aer: qur g @

19 ooy, ferered] H | wER IUgER TR TG HIf, ;
(1) wm@AB#D () FABsC () ¥WACHD @) FAw@B,CAD

48. According to a World Health Orbamzahmeport the percentage of the world pOpu.latlon that
uses traditional medicine systems in somew or the other is :

(1)  About 20% (2) About 50% U" (3) About 100%  (4) About 80%
v 7T T it % oA fae STEE e wf e off w9 # e fafwen el 5
wa A % ? O :

(1) &M 20% (2) @ 50%

>
elo) E100% () T 80%

J
- ¢

49. The Global centre for Traditional Medicine has been established in :

(1) World Health Organization (2)  Jamnagar

(3) New Delhi (4)  Haridwar

rivfi fafaem e Afvaes % el Ll gem ®7?

(1) fava w@res e (2)"y FITHATR

(3) 7 faweh (4 BitEn N
50. Choose the appropriate title for the ]mmmhe. - 2 g

(1) Allopathy (L (2) Holistic Healthcaye

(3) Ayurveda ’»‘.}' (4) Homeopathy

ety g v v 9| )

(1) vt (2) | A Sy

(3) @mdE (4) deiited

17
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PAPER - I1 (COMPUTER SCIENCE ANy APPLICATION)

51. Lower-triangular sparse matrix is one : |
«(1)  in which all the non-zero elements lie only on the leadj g

(2) in which all the non-zero elements lie above le

\(3)' in which all the non-zero elements lie below le

(4)  which is not defined for sparse matrix.

A Flag | @B, FCS address
Choose the correct answer from the options given below :
+ (1) ACD,B 2) D, A, (€, 10) 3 CBAD

>
=
; g -
(@
il ..

53.  Which of the followings are White box Testing ?

A. » Path Testing B.  Loop Tfstmg

Hhal

D, Non functional Testing
Choose the correct answer from the options given bé‘lo‘w‘

(1) A and B Only @)
o ) Cand D Only (4)

C. * Regression Testing

B and c @nly
A and b Only

54. The techniques used to handle the phantom problem are

' 1
A.  Time stamping ‘ B.  Index locking

C.  Predicate locking D. ' Execution indexing

Choose the correct answer from the options given below : ]
(I) A and B Only (2) Band C Only
¢ (3) Aand D Only (4) Cand D O y

N
55.  Which of the followings are type of interface in an ATMinetwork ?

A. user-to-user B,  user-to-netwhik’ C. network-to-network
D. host-to-network o E user-to-host‘f; ‘H

: Goed
Choose the correct answer from the options given below :
(1) A andB Only (2) BandC Only

(3 Cand D Only s (&) DandEOnly

18
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56. Arrange the following 1N COrygey Order, so that they can follow
A.Q Programming statemeny

Proper run time environment *
@B. Compilation

oD. Type %fﬁﬂable thy
@)

@C- Memory allocation
E.  Memory deallocation

Choose the correct ANSWEE froy, the options given below :
) ABCDE @ Ak
(1) ABCDE @) "ABDCE @ BADCE

O

57. Match List - I with List . 11, f(n) =af(n/b) + W
: , : g(n) isfa)divid
the Listed-I algorithms, match their recurrence 1)n Listed-I1

List - 1

@ cDBEA

e-and-conguer recurrence relation for

List - 11
Reeun-ence Relation

L fy=7 fn/2)+15 0°/4

Divide-and-conquer based algorithms

Binary Search

A.

B. Find maxim?m and minimum of a sequence 1L f(n)=2 f(n/ 2)+n
. C. Merge Sort A YIL  f(n)= 2f(n/2) +2

D. Fast Matrix Multiplication V. fm)=f(n/2)+2

Choose the correct answer from the options given beléx}v :

(1) A B I, DIV «(@) AL B, C1V, D1

(3) A, B-IV, C-1, D-TI (4) A-IV, B4, C-1I, D1

7
4

58. Match List-I with List-II :

List - 1 List - 11
A. Channelization protocol . Ly ALOHA
B. Bit-oriented protocol - [pa TDMA
C. Random-access protocol [II. Reservation
D. Controlled-access protocol IV. HDLGC
Choose the correct answer from the options given below :
(1) A-, B-III, C-IV, D-II v (2) AL BV} L, D-III
(3) A-V, B, C-1I, D-I (4) AL BV, G, DI

@ An IPv4 packet has arrived with the first few hexadecimal digits as shown belowA How
hops can this packet travel before being dropped ? The/data belong to what UPPEI‘—IE'lyer protnocmollg

(5400001800100110040607% ... 1

(1) 01 hops, TCP (2) 02 hops, UDP

(3) 03 hops, ICMP Mops, TCP
19
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60, Which of the followlng {g (e Markup langunge ?

A, MIML B XML C ML
Choose (the correct atswaer from (he optio jﬁlvun below ;
(1y B¢ DOnly (%) g € D Onlys
@ ACDE Only 0 (w, B, € Only

N

61, Which of the followlng control problam Q6eh not exist, when ¢ |

during interaction ? (@0
(1) Mutual exclusion (2_Data coherence
(3)  Starvation v(4)  Deadlock

Arrange the following prefix expressions based on thei values in increasing order :
Al +=%2/8432 B, T-%38#425

C. +-132723/6=42 D. #43+4313+4113
Choose the correct answer from the opﬂoﬁu?%iven below :

) ABcD @ Baco Uls pesa
i

4 €D A B

63. Match List-1 with List-11 : \;3
List « 1 L?f
Line coding scheme

Bandwidth (average)

A.  NRZ-L I. B=N/4

B. 2B1Q . B=N/8

C. 4.D-PAM 5 S L B=N/3

D, MLIGwr IV. B=N/2

Choose the correct answer from the options given below :

(1) Al B, C1V, D11 (Z)AJA-IV, B-1, C-1, D-INI

s (3) AV, B, C1, DI (4) 'AII, B-1V, C-11, D-1
64, The instructions
ADD R, A, B
ADD Ry, C, D
g MULX, Ry, R,
| evaluates the X = (A +B)*(C+ D) in which of (he following ?
ﬂ) 4 - Address instructiony (2)

2« Address instructions
1~ Address instructions (4)

RISC instructions

20
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66.

67.

For the fuzzy sets A={(x1, 03), (%, 0.7), (x4 0.4)) and

B={(*1 05), (x
1) {(y, 03), (v 07) (35, 0y}
® {05, (x2 07) (& 0§y

{ [

o 0.2), (x4 0.5)],7 the AnB would bg .

@11, 05), (x5 02), (1, 03
() {1 09, (13,0, oy 04 |

Which of the following genetic hlgb“rithm operation is computationally most expensive ?
(1) Convergence testing (L) K

)
)

(2) Initial populﬂtiOn Cl'eatior?-:

e(3) Selection of sub-populatiolh for mating

(4) Reproduction to produce next generation

Multiple Inheritance is permitted directly in

-----

A, G+ B. Java
C. Python OO “D.. VBINET
E. BASIC (J

Choose the most appropriate ahs";\rér from the options given below :

o) AandBOnly (2) AandCOnly (3) BandDOnly (4) A, CandE Only

68.

69.

70.

The I/O methods in which memory addresses and 1/O addresses are distinct, is called :
A. Isolated I/O B. Memory-Mapped I/O
C. Strobe Control D. . Handshaking

E. Interrupt

Choose the most appropriate answer from the options given below :
(1) A, BOnly 2) C P@nly 0(3) C EOnly (4) B,EOnly

Which of the following is the function of the semantic analysis phase of compilation process ?

(1) Type conversion (2) Tokenization
(3) Loop oplimjzation *(4) Data flow Analysis
ioatk ,-erﬁ).‘.
IP is responsjble for ___ communication while TCP g responsible i
communication. — SR
(1) Node-to-node, Host-to-host ¢(2) l)"‘uzss'm'prn:'ss' I‘lnst—to-k’lost
Jost-to-Host: Frocecc
(3) Socket-to-socket, Host-to-node (4) Host-to Hos Uubb'to‘Pmcess
21
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71. The Boolean expression for the following would be :
F(A, B, C)=2(0, 2, 6)
d(A, B, C)=2(1, 3, 5) 1) '
- [/ f ) : y "-'”
€ (1) AC+BC (2) B+AC (3) Aﬁ@’ (4 A'+BC"
(@)

A computer system with cache access time of 100 ns, 4'main memory access time of 1100 ns, and
a hit ratio of 0.9, then average access time would be : ‘ ™ ; _

(1) 200 ns (190 s (3) 210ms, @ 12005
(- | e |

f'l.‘.

73. Services provided by point-to-point protocol (PPP) : i b
A.  frame format B.  establishment of the link |
C. flow control D. sequence numbering 1
E.  authentication | o ¥, l
Choose the correct answer from the options given below : '
(1) A, Band E Only %(2) A, Cand D Only |
(3) D,Eand B Only 4) B, Cand(D®nly
(@)
74. In windows scheduling, which of the following optior”?‘“sé%rrect ? \
(I) 4 non-real-time priorities (2 8 non—regl%’}ne priorities
» (3) 12 non-real-time priorities (4) 16 non-r%ﬁtgime priorities
75. Which of the following is/are true in case of tree locking ?
A. It ensures shorter waiting times.
« B. It ensures freedom from deadlock. o3

C. Transaction can lock data items earlier.

D. It does not ensure greater amount of concurrency. /)

Choose the correct answer from the options given below

() AandBOnly (2) CandDOnly (3) BandCOnly e(4) A and D Only

-

A least integer n such that f(x) is O(x™) for each of tl{e. following functions. Arrange followi
according to the value of n in increasing order : At

A. f(x)=35+ (log x)’ B f(0)=(FR+1)/(@+1)
. f@=GC+a2+1)/(x2+1) D. f(x)=(x2+5logx)/(x2+1)
Choose the correct answer from the options given below :
(1) D,CAB (2) D,CB A (3) B,C A D (A)SNBYANE Ty
/4 22
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81. For the given tWo machines which of the following is COrrect 7

(2) both are n uival

(4) cannot be determined

For the fuzzy set A= {(x-li 0.3), (x5 0.7), (x5, 0.4)}, the complement of
as :

@) {09, (5 03), (1,01} @) {(xy, 03), (x5 0.7), (x5, 0.4)}
@) {x, 07), (x5 03), (x, 0.6)) M 0.21), (;52, 0.28), (x5, 0.1

83. Regarding the subroutines, see the following sequence of tasks to be performed :

A. Turn on the interrupt facility on. - ‘ ,..f':‘f,_:
Service the device whose flag is set. ~
Save the contents of processor registers. -

Check which flag is set.

MY N o

Restore the contents of processor registers.
Choose the correct answer from the options given below :
(1) ADCBE (2 DABCE 3 CDBEA (4 BDAGCE

84. Arrange the following simple graphs based on number of spannmg tree they have :

« A. K, [Complete Graph with 3 nodes]

- B. K, [Complete Graph with 4 nodes]

. C. K, , (Complete bipartite graph of the 2 nodes in each ) partition)

D. GCs (Cycle graph of 5 nodes) N

Choose the correct answer from the options given below :

ABCD +(2 ACBD 3) ACDB 4 D,BC A

24
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89. What will be the ordering of typical steps when processing 5 high-level query ? da J':! 7
A. Query optimizer B.  Runtime datapgge processor
C. Scanning, Passing and validating D.  Query code generator
Choose the correct answer from the options given below :
(1) D, A, C B .(2) C A, D, B ; (3) C, DB A 7
Qo

(4 D,CBA

90. The height of a binary search tree for the words baﬂa‘m, peach, ap
papaya using alphabetical order is :

W 2 ‘@ 3 o 5‘(8 5
91. Match List-I with List-II : Qo £
List - I List -@ 1 i
A.  Verification I White box Testing
B.  Validation Il Black box Testing
C. Internal logic exercise III.  Quality Control
D.  Software requirement exercise V. Quality Assurance
Choose the correct answer from the options given below :
(1) AV, BII, C.I, D-II 2) AL BILCI, DIV
¢ 3) AV, BIN, C-II, DI (4)  AILBAV, C1, DT
O]
92.  For making a memory of size 2048 x 8 bytes, by usﬁg\ﬂ}‘é chips of size 128 x4 bytes, the number of
chips required is : O
1 8 @) 16 3y 820 *(4) | 64
| ) & (
Which of the followings are tautology ?
A. (pvr)-p B. p—)(};/\r)
C. ~p-(p-r) D. (par)—(p—1)

8 El ~(por)-p

X

Choose the correct answer from the options given below :
(1) A, BOnly (2 A BCOnly (3 /B/C DOnly (4) C,D,EOnly

94, Which of the followings are sequential circuit ?

" JA. Flipflop B, Multiplexef )\ “C. Counter
D, Decoder E. Adder ] ‘
éhooae the correct answer from the options given below :
(1) B iGaly . (2) A, C Only (3) C, E Only (4) D, AOnly
."b. 1) Ly 4 " !
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95. Match List-I with List-II :

A. 31:0-111 g
' 1. Virtual Reality

B. Function II. _Shadow mask

C. Interactive Environment 111. ;‘édbroutine

D. Output device V. ,'@Js‘.er defined data type

Choose the correct answer from the options%%i%m below : §
*(1) AV, B, C-I, DI () ¢ @51V, BIL C-IIL D

(3) AL BV, C-I, DI (&) (f1, B-IIL C-IV, DAL

What is a perceptron in ANN ? )
(1) A double layer auto-associative neural network.
(2) A neural network that contains feedback.
3)

¢(4) A single layer feed-forward neural network with pre-processing.

o

An auto-associative neural network.

97. Match List-I with List-I : o |
List - I _ F 1 List-T0
Back Tracking Ifj Automata
(e,

B. Infinite languages with “I.  Undecidable Problem

matching numbers :
“TII.  Predictive Parser

C. Canonical LR Parser
V. Large number of states

D. Post Correspondence Problem
Choose the correct answer from the options given below::

(1) A, BIL, C1I, DIV (2) AL, B-IV, CI; Dl
() AV, BIIL, CI, D ¢ (4) A BL, CIV, D-II

me gize of 10 million bits that is being set up on a link with
N B 1 aino a queuin time of 2 b8 and a processmg Flme of 1 us ? The lengﬂ; of link

ézllr(()]tmh"l"e}?d:;zztil r:)% ;igqfiLmSige the link i8 2 108 m/s. The link has bandwidth of 6 Mbps.

(M., e spee

oy 1691726 5 () 24250805 (4 1714030s.

@ What is the total delay (latency) for a fra

(1) 0.624050 s-
andom. What is prObability that it contains at least two

i edatr
@ A bit string of Jength four 15 gen?r?t‘t (; |
0's given that first pitis U ¢

consecutive
cunve 5 /(iﬁ/ _f_')- (4) l
7 8 ) 4

(1) 216

| =

27 087
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100. Shift-Reduce conflicts are resolved by o Ctd o
(1) Left recurssion 11(2) Left factoring

(3) Ambiguity it ()1

Associativity ang

101. Back propagation is a learning technique that ad]USfB‘(jﬂh
weight Changes : : Bk et L Pl o ! g

+(1) Forward ffO“f'isb;uxce'?t‘oﬂhiddén@ngs,f;}r,:w-m;Mﬁ i

i
£
i
g

UL The n

(2) Backward from sink o source

(3) Forward from'source g

(4) Backward from sink tc

ABCDE 4@ CBA

gLl

|
J T ’!"*]. ;

given below :
E (Bg"*"'B"a'n*'d'B'O‘ﬁly f
ma: _

.

Band C Only
. LR A A

S O
b

— - ) . ot ‘ : Ir
“losed under ‘union operation i,

) ‘\"'\ f

 closed under fgohcatenation operaﬁdn M silistl ”' ,{5

re closed under intersection operation (Q S < .wh 4
are closed .under complementation operafﬁaﬁ) .

closed under kleen star Operation C) R o B

0st appropriate answer from the options given below iy

3) Ca.ndDOn_[y - (4)

28
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105. The instruction LD ADR(X
d ) which |
8 equivalent to AC ¢ M[ADR+XR]
ig in :

(1) Direct ‘essing
irect Addressing Mode s(2) Indirect Addressing Mode

(3) Index Addressi
ressing Mode . (4) Immediate A‘d:essing Mode

106. The least values of a signed and uhs1gﬁed data type variables rGQuixin 8 bits, would be.....
(1) 0,128 o - 128’,3‘ 12{‘7 ®) 0,0 @ -128,0
0]
107. Arrange the following sets in increéasing order, on the basis of their cardinality *
A, Ar={{1, 2}, 8} B.  A={{1}, {2}, {3}, (4))
C. A3={{1,2 3, 4,5, 6)) D. As={{1,2}, {2 3 4}, 5))
E. As={{1), 2, 3}, (4), 5))
Choose the correct answer from the options given below :
(1) " A, B,D,E,C OO0 (@ AuB ED,C
+(3) A, C DJBE J1 @) /€ AD,BE

@ Which of the following have truthvalues if universe of discourse consists of all integers ?

A. n3m (n’<m) )4iB. Inm (n<m?)

C. 3nim (n?+m?=5) "D, 3nIm m2+m2=6)
E. 3n3im (m+n=4\n-m=1)
om the options given below :

(2) B, C EOnly

(4) B, D Only

Choose the correct answer fr

(1) A B, C Only

) d “C. D, E Only

109. Arrange the following example
ection using rule-based sys

s of (Akfificial Intelligence (AD) in the order of increasing complexity :

tems.

A. Spam email det ; | networks
B. Handwritten digit recognition using shallow neurat SIEFHOLLS.
C. Image cl_assification using convolutional neural .netwlorok:;

D / | mous driving using reinforcement learning algorithms,
- Autll the options given below

ect answer from
A’ B’ D’ C (4) BI CJ AI D

Choose the corr
v (2) B, A, C D (3)

[J) f\, B, Cr D
29 087
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110. Match List - I with List .

11198,
List - I | List - 1T ! i wg,
. Complement =7 = A qder
:. Ex-OR II.  Instruction decodmgx
C. Accumulator II. Negative number 1€ ¥
D. Control Unit IV. Arithmetic and Logic-operat
Choose the correct answer from the options given bel
1) A-L B, CIIL DIy ef2) AL B-
4(3) A-L BLCIV, DI 4) ALV, B-ﬁé@-mr D4
111. The sequence of fields is an TP datagram will be :
A. flags ~ B. options | - C.
D. Identification ~E.  Service type
Choose the correct answer from the options given below :
(1) ED,ACB y(z) D AN CER
(3) D,ECBA g ) E C D % '
-1 with List-II :
ID level-2 I block-interleaved
) level-3 ST E’e1‘*‘for-<:om:ecf:mg—co %
RAID level-4 IIL.  reed-solomon codes
RAID level-6 ~ IV.  bit-interleaved
E Ev':'hoose the correct answer from the optxons given below :
. (T) A-T, B-TII, C-1V, D-II 0 (2) A-I B-IV, C-I, D-TII

() AV, BI, C-II, DI ~ (4) A, B-TII, C-IV, D-I

30
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114. Which of the following is fof {1
(1) Cope with complexity
(3)  Detect side effect

B.

]

L
I‘-'-‘L_LL’.’;.“ |w|;_,: 'g‘.i OIS

-‘ c o 3
- - SDav 1 i P [ 1@
i o 3 + o) 3
) e { 4
B ) aim -
as i b I e -y s TSNS
: 3 : T : T o) 0 BXEe {3 ’ . - thread.
A X - . C 1 0 i . f 2 C hrear
N 2 A & ) '
. M > = - - .- 2
. ( | 18 ow SNoriator g e
3
’

| (o) :,
. How much time does an algow} sing 250 bi
2'38seoondgf?ﬁgme? , .

M POSSIL

G |
. Arrange the steps of MathematitalModeling :
A.  Solution fitting with data (@) ,
B.  Formulation Mathematlca%
C. Solve Mathematically ‘ y!
D.  Repeat formulation if it fitlworst with data
E. Interpretation results
Choose the correct ansWer
(1) B, C AY D,E '(2) B,

from the options given below':
Al Dl CJ E (3) D‘ £ = . 4
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120. The following code : L e ‘
stmt — if expr then stmt else gtmt ' ‘
| if expr then stmt

suffers from : C)
f

(1) Ambiguity (2)  Left factoring

121. Match List-I with List-IT ;
List - I
A. Batch Mulﬁprograhlming ' . allows fore efficient
II. user no longer has direct access

B. Time sharing

C.  Monitor JII. Maximize processor use

D. Reentrant Procedures IVL minin:ﬁze response time

Choose the correct answer from the optlons glven below

(1) AJI BT, CIV, DI .,k(z)Jr A-III, @ CII, D-T
(3) A B-II1, C-1V, D-1I 1 . 4(4)1 ¥ A..II’ Bm]:v’ D-III 4 '_f. -

9, _ d
n Genetic Algorithm's cross over operation, mask w% in ?

1) Three parent crossover | (2) T‘&b"p@ crossover -
(3) Uniform crossover (4) N poinmssover
i - bR °)
3 \
23. 'l’he ratio ofierror found before s/w dehvery and to the total errors (beforre and after) is calle
(1) Accuracy (2) Specificity 3
» (3) Defect Removal efficiency (4) Through put
Q0

124. Arrange in appropriate order, the construction of a finite automata :

A. Minimum State DFA B.  Regular Expféésfon
~ | 5
C. NFA-e¢ D. Problem Stat&emént

Choose the correct answer from the options given below :

.(1) BCEAD () DpBCEA (3) CEBAD (4 ADCBE

32
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125. The output of the following Cuy.
#include <stdio.h>
int main (void)

{

Progrnm ia:

int x, *p

x=30;

P=X;

print f (“%d”, )
return (;

©(3) address of x

M

26. The Cardl?ahty of a fuzzy set is :

o(1) 0" N ' (2) finite 3) mﬁrﬂtﬁ"" 4)

Wing is not correct about the virtual n-i' e
. ! ; etn_ seomes ion ?
(1) It 1S not nece Sary to Ioad all@e se e'nts": A P“I"Q"(_- 4 PRI tﬂh,_ {
(-) It h.as no |- frag[rlenm%J =y { . '...Jl‘-,h-_.‘ :l‘-“.r <1

¢ (3) e Vi 2 T
(4) L A (T %

ot knowr

. |

28. The parameter Actua’ll count is U.SlnGm =
(1) Crossover o0 ( i
(3) Selecting Ppopulation (4

(2) is one point crossover of figure (1)

(2) is N point crossover of figure (1)

SIS Y ey S
(:"-»)\).E'Zf niform cre
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130. For the software quality asgurance, which of the followﬁ%ﬂ
A. Execution of code
B. No execution of code
C. Preventive technique o
D. A corrective teehf\itj[ue :
Choose the correct answer from‘ the option@yen below :
() ABOnly (@) BConly (¥ CDOnly

Addal247 DR A Egie Py

p)

@ Z is set of integers, <Z, ¥> forms group if «hd?)
(1) *(a b)=a+b+2 QC.’(a, =2a+b
(?:)/‘(a' b)= (a+b)/2’ (4) *(a, b)=a’+b

Whu:h of the follpwmgs sequence {a} are the solutlon

| a,=8a, ;~16a, 7
5 : A A= OB al=2 e C. a,=%

i 12051

.r D. a,=nd" | - E_-.' an@ll)“

Choose the most appropriate answer from theio ptlons given below :

(1) ABCOny (2 B C DOnly 0‘9) C, D Only (/CD E Only

. Which of the following is not an ob]ect Oneng@i Programming language ?
(1) Pearl , (2) ' Python Lf@) Small talk (4) SQL Plus

134. Which of the following structures of knowledge representatlon are the most purely syntactic 2
A. Conceptual dependency B. predicate logic

C. slot-and-filler D.  nonmonotonic systems" \
Choose the correct answer from the options given below :

(1) AandBOnly +2) BandCOnly (3) BandDOnly (4) C and D Only

_ Match List-I with List-II :

=% T

C )

List - I st - I1
A. A—aBla aeT, A BeV 1, € J‘R‘ecurswe Descent Parser
B. A—BC|a aeT, A, B, CeV I1. j“-ii;Turmg Machine
C. LL (1) grammar HI.“- A ‘Choamsky Normal Form
'D. Halting problem IV, ~“Finite Automate
Choose the correct answer from the options given below :
o(1) AV, BIII, C-I, D-II (2) A-II, B-I, C-II, D-IV
' A-II, B-1V, C-III, D-I (4) A-1V, B-III, C-II, D-1
34
. i



https://v3.camscanner.com/user/download
https://applink.adda247.com/d/XhqWf9lSap

Adda247 I R B A Sooie Play

136. For line drawing, which of fhe for-
A. DDA algorithm
CR ‘%/ﬁ‘g‘l-point algoﬁ_ _r'.g |

A. regisfér

D. Page fta];,le ET)) Page middle dlrectory A
tab 0

Choose the correct answer from th%ons given below : -

A, CED,B -}
() BADEC @ e —

3 D,C A BE 0)® CADEB. +
40} If f(n)= Sf(n /2)+3 and f(1)=7 is a recurrence relation w‘.l’t’éré' K is poglﬁvé F i .
(1) 5K (31/4)—3/4 @) 5%29/4) .
(3) 2K (31/4)—3/4 @) 254
z
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Answer the following 5 qﬂ'-"stio‘na. based on the passage. (] s

A firm can Pdeu‘-‘e tWO“type of cloth sa
wool, green wool and blue wop], One unit len
green wool. One unit lengi;ﬁJ ‘
blue wool The firm has ohl
wool. Itis assumed that th? Z

and X 50, respectively.

5 1jg.;|l?-_'m_'.: ¥

P laar (o
-,! fommlate‘fmthe

ly unit length used for cloth A&}ér‘ income is maximized ?

0.8 unit (2) 2.4 unit Lfg (3) 2,8 unit @) 3.0 unit
| i o | g

145. Which
(1) 2x

(!'\ 30x +
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Answer the following 5 9Uestiong pased on the passage. (146-150)

A s 5 -
ATy 8 lmplemenhng a new database system to manage jgg oy o¢omer information- The
database contains tables for cug gy can
tomers, orders, products and sales repregeng,sives. Each customer
place multiple orders and eagh ; : £ - ted with 2
. ) Ofder can contain multiple products, Bach order is associa )
spectfic SSUCe fepresentativey manages the account. The database jg designed to improve efficiency

in tracking sales and customer thtesactions

146. Which SQL query Tetrieyag thé_total number of distinct customerg who have placed orders ?
(1) Select COUNT (DIST]NCI «customer_id) As total_customers From orders;
(2) Select COUNT'(#) As totél;customers from customers;
» (3)  Select COUNT/(DISTINCT order_id) As total_customiers from oxders;
(4) Select COUNT (DISTINCT customer.id) As total_ customers fium customers;

f o Vhic O_f the following tables is likely to have a foreign key referencing another table in the database
system implemented by the company ?

o (1) Customers (2) Oxders (3) Products (4) Sales representatives

oY

148. Based on the passage, which of the following statements is true ?
(1) Each customer can place orily one order.

(/2)/ Each sales representativie(can manage multiple customer accounts.

(3)  Each order can be associated with only one product.

(4) The database does not include a table for products.

149. Which SQL query retrieves the total number of orders placed by a specific customer ?
(1) Select COUNT (*) As total _orders from orders where customer_id=[customer_m]’_
(2) Select COUNT (order id) As total_orders from orders where customer id = [Customer IDJ;
(9/ Select COUNT (DISTINET order_id) As total_orders from orders Where
customer_id = [Customer ID];
(4) Select SUM (order_Id) As total_orders from orders where customer_id = [Customer_IDJ;

best dascribes the relationship between the “orders” table and the

150. ' Which of the following e

#“Customers” table in the C()mpany’s database s
Onésto-Many  (3)e Many-to-One  (4) Many-to-Many

(1) One-to-One (2)

..()OO-
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